Mounting Instructions

_ HAFELE

FLAT TRACK SLIDING SYSTEM WITH
STRAIGHT HANGER - MODEL #BD100

vz i
| | 28 5.5 DR
: 2000 mm (78 3/4”) | g " i [
| 450mm | 450mm | 450mm | 450mm | | — -
‘ 1 (17 11/16”) |, (17 11/16”) | (17 11/16”) | (17 11/16”) | i Z
l | = | o | |
| o] 0] | —
i i T i, 3 = R ] e R [ e = e e B
125.4 mm (17 . B “‘
| @ T ﬁ‘ R ll
| |
1 . | |
louﬂlﬂlllllllﬂu
= in the field ‘ @ W
© ‘ M8x30 (x 2)
~ |
- |
= |
€ |
£  H O
? | (x2)
+ |
z | = Coy,
1 A D 0
‘ ammmr) M10x55(x4)
10 mm bolts for 35mm door
o M8x60 (x 5) I} ;
L ST4.2x25(x 2)
***** = (D ) (s MI0X65(xd)
M8x30 (x 5) s bolts for 45mm door
?6( x2) M8x120(x5) F’
For masonry installation (x1)
£ :“2 £ :‘2 £ :‘2 £ :‘2 For drywall installation with
CE, = g = g - g = support structure  — = = =
\Q‘I: | Q‘l: | Q‘I: | 3,': I Eg Eg Eg Eg
= = = = or or or or
e . ST B2 N S S
Y — = = =
e e Y L
\.|determined m4
in the field 2
: H»ucl:'lllilw —_
| 30 in the field &
| (13/167) o8 mm S
E ~| 80 ~
= | 81/&) @55 mm
< £
Bs €
®
<
+
I
B For drywall installation with
support structure




40 mm
(19/16”)

90 mm
(39/16”)

[ 5 s s S
°

Thickness
45 mm (1 3/4”)

Thickness
35 mm (1 3/8”)

g

20 mm (25/32”)

- %Im

=
o ‘O o
|
[ o
|
|
|
|
|
\ 5
2
\ G
(o]

HAFELE

3901 Cheyenne Drive ® P.O. Box 4000 e Archdale, NC 27263
1-800-423-3531 e www.hafele.com/us





